

THE CORPORATION OF THE TOWN OF ESPANOLA

BYLAW NO. 3027/21

Being a Bylaw to Adopt Estimates of all Sums Required During the Year and to Levy and Collect Property Taxes for the 2021 Taxation Year

WHEREAS the Municipal Act, 2001, S.O. 2001 c.25, as amended (hereinafter referred to as the "Municipal Act") and regulations made under that Act require that the Council of a local municipality shall after the adoption of the estimates for the year, pass a bylaw to levy a separate tax rate on the assessment in each property class;

AND WHEREAS the Council of the Corporation of the Town of Espanola has prepared and adopted estimates of all sums required to be raised for its own purposes from all rateable assessment in the amount of \$7,744,459 pursuant to Section 290 of the *Municipal Act*;

AND WHEREAS all property assessment rolls on which the 2021 taxes are to be levied have been returned and revised pursuant to the provisions of the Assessment Act, R.S.O. 1990, c. A31, as amended (hereinafter referred to as the "Assessment Act");

AND WHEREAS Property Classes and Property Subclasses have been prescribed pursuant to Section 7 and 8 of the Assessment Act;

AND WHEREAS the Town is required to establish tax ratios pursuant to Section 308 of the Municipal Act for each prescribed Property Class;

AND WHEREAS the Town is required to establish the treatment of each Property Subclass pursuant to Section 313 of the Municipal Act;

AND WHEREAS Section 312 of the Municipal Act provides for the establishment of tax rates to be levied for local municipal purposes;

AND WHEREAS the taxes for School purposes shall be levied, collected, and administered by the Town in accordance with the Education Act, R.S.O. 1990, c.E.2, Ontario Regulation 400/98 made and most recently revised under that Act;

AND WHEREAS Part X of the *Municipal Act* provides for the issuance of tax bills and the collection and administration of tax amounts;

THEREFORE, for the taxation year 2021 the Council of the Corporation of the Town of Espanola enacts as follows;

- 1) That the tax ratio for each property class is as follows:
 - a) the residential property class: 1.000000;
 - b) the multi-residential property class: 2.000000;
 - c) the new multi-residential property class: 1.000000;
 - d) the broad commercial class: 1.874067
 - e) the residual commercial property class is 1.808670;
 - f) the shopping centre property class is 2.609186
 - g) the broad industrial class: 6.507435
 - h) the industrial property class is 2.325000;

- i) the large industrial property class is 8.219879;
- j) the landfill property class is 1.100000;
- k) the pipelines property class is 1.245563;
- 1) the farm property class is 0.250000;
- m) the managed forests property class is 0.250000;
- 2) That, in accordance with Subsection 313(1.3) of the Municipal Act, no tax rate reductions shall be applied to properties in the Vacant or Excess land Subclasses prescribed under paragraphs 2 or 3 of Subsection 8(1) of the Assessment Act;
- 3) That the Town shall levy on rateable property the Tax Rates set out in Schedule "A" attached hereto and forming part of this by-law in accordance with the following:
 - a) General municipal tax rates shall be levied on all property rateable for Municipal purposes, and
 - b) Provincial education tax rates shall be levied on all property rateable for school purposes.
- 4) That the final tax levy to be billed under this by-law shall be reduced by the amount raised by the interim tax levy.
- 5) The final levy to be billed and imposed under this by-law shall be paid in two instalments due on the following dates:
 - a) 50% on August 31st, 2021 and
 - b) 50% on October 29th, 2021
- Obespite section 5 of this by-law and pursuant to subsection 342(1)(b) of the Municipal Act, 2001 which allows for alternative instalment due dates, the final tax levy and any special levies, other than those levied by interim levy, shall be as follows for those taxpayers who have opted in to a preauthorized plan, and who remain in good standing:
 - a) Equal instalments due on the 1st day of each month from July to December 2021 inclusive; or
 - b) Equal instalments due on the 15th of each month, from July to December 2021 inclusive
- 7) THAT in accordance with Section 345 of the Municipal Act, penalty and interest shall be imposed against amounts that become due and remain unpaid as follows:
 - a) For any instalment that comes due, a penalty of one and one-quarter percent (1.25%) of the amount in default on the first day of default being the day immediately after the due date; and
 - b) Any and all taxes and instalments that remain unpaid after the first day of default shall be subject to interest for non-payment which will be calculated at a rate of one and one-quarter per cent (1.25%), per month and imposed on the first day of each calendar month subsequent to the date of default.
- 8) The Treasurer is hereby authorized to mail or cause to be mailed the notice of taxes due to the address of the residence or place of business of the person to whom such notice is required to be given.
- 9) All moneys raised, levied or collected under the authority of this bylaw shall be paid into the hands of the Treasurer of the Corporation of the Town of Espanola, to be applied and paid to such persons and in such manner as the laws of Ontario and the Bylaws or Resolutions of the Council direct.

10) This bylaw shall come into force and effect upon the date of the final reading thereof.

READ A FIRST, SECOND AND THIRD TIME AND PASSED IN OPEN COUNCIL on this 8th of June 2021.

Jill Beer

Mayor

avid King

Interim Clerk-Treasurer

SCHEDULE A: By-Law 3027/21 Town of Espanola 2021 Property Tax Rates and Levy Amounts

| 2021 Assessment Per Roll Return | | | General Municipal Levy | | | Provincial Education | | | |
|---------------------------------|----|-------------|------------------------|----|-----------|----------------------|----|-----------|------------|
| | | | | | | : [| | | Total |
| Realty Tax Class | | CVA | Rate | | Levy | Rate | | Levy | Tax Rate |
| Residential | RT | 333,313,993 | 0.01521479 | \$ | 5,071,302 | 0.00153000 | \$ | 509,970 | 0.01674479 |
| Residential/Farm PIL | RG | 130,600 | 0.01521479 | \$ | 1,987 | 0.00000000 | \$ | - | 0.01521479 |
| Residential/Farm | RP | 14,800 | 0.01521479 | \$ | 225 | 0.00153000 | \$ | 23 | 0.01674479 |
| Farmland | FT | 285,300 | 0.00380370 | \$ | 1,085 | 0.00038250 | \$ | 109 | 0.00418620 |
| Managed Forest | Π | 1,085,200 | 0.00380370 | \$ | 4,128 | 0.00038250 | \$ | 415 | 0.00418620 |
| Multi-Residential | MT | 6,019,500 | 0.03042958 | \$ | 183,171 | 0.00153000 | \$ | 9,210 | 0.03195958 |
| Commercial | CT | 33,067,387 | 0.02751853 | \$ | 909,966 | 0.00880000 | \$ | 290,993 | 0.03631853 |
| Comm. New Construction | XT | 2,365,900 | 0.02751853 | \$ | 65,106 | 0.00880000 | \$ | 20,820 | 0.03631853 |
| Commercial Excess/Vacant | CU | 198,500 | 0.02751853 | \$ | 5,462 | 0.00880000 | \$ | 1,747 | 0.03631853 |
| Commercial Vacant Land | CX | 1,386,500 | 0.02751853 | \$ | 38,154 | 0.00880000 | \$ | 12,201 | 0.03631853 |
| Commercial PIL | CF | 3,073,000 | 0.02751853 | \$ | 84,564 | 0.00980000 | \$ | 30,115 | 0.03731853 |
| Commercial PIL | CG | 1,226,600 | 0.02751853 | \$ | 33,754 | 0.00000000 | \$ | - | 0.02751853 |
| Commercial PIL | CH | 310,500 | 0.02751853 | \$ | 8,545 | 0.00980000 | \$ | 3,043 | 0.03731853 |
| Shopping Centre | ST | 3,703,300 | 0.03969822 | \$ | 147,014 | 0.00880000 | \$ | 32,589 | 0.04849822 |
| Industrial | IT | 2,294,500 | 0.03525392 | \$ | 80,890 | 0.00880000 | \$ | 20,192 | 0.04405392 |
| Industrial | JT | 597,300 | 0.03525392 | \$ | 21,057 | 0.00880000 | \$ | 5,256 | 0.04405392 |
| Industrial | IH | 63,000 | 0.03525392 | \$ | 2,221 | 0.00980000 | \$ | 617 | 0.04505392 |
| Industrial Excess | IU | 14,000 | 0.03525392 | \$ | 494 | 0.00880000 | \$ | 123 | 0.04405392 |
| Industrial | JU | 102,400 | 0.03525392 | \$ | 3,610 | 0.00880000 | \$ | 901 | 0.04405392 |
| Industrial Vacant | IX | 330,000 | 0.03525392 | \$ | 11,634 | 0.00880000 | \$ | 2,904 | 0.04405392 |
| Large Industrial | LT | 8,307,013 | 0.12463782 | \$ | 1,035,368 | 0.00880000 | \$ | 73,102 | 0.13343782 |
| Landfill | HT | 9,200 | 0.01673627 | \$ | 154 | 0.00880000 | \$ | 81 | 0.02553627 |
| Pipeline | PT | 1,824,000 | 0.01895098 | \$ | 34,567 | 0.00880000 | \$ | 16,051 | 0.02775098 |
| Total | | 399,722,493 | | \$ | 7,744,458 | | \$ | 1,030,462 | |